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— %13 K397 RN219N 170 KA
Shall we say that this will be a refutation of X2, etc.

OVERVIEW

X211 stated that if a person moved an object four M»X in a 7"77 even though
that "% 777 1702917, nevertheless he is 2. The X3 asked that there could
be a refutation to X217 from the Xn»72 which states that if a person is standing
on a Muvd O1P» between a "7 and a 7"77 he should not take an object from
the 2"7va (who is in the *"77) and give it to the *1¥ (who is in the 7"737) and
vice versa; however if he did it, all three are 71vd. This seemingly contradicts
that which X271 said that 19 977 1772977 is 21, Our Moo will first cite s™"wA
explanation of 19y 777 12v1, reject it, and offer an alternate explanation.

— 19909 ©YP1I N7 /5 NYYNAY 195290V 39 YY X 7Y Y
“"'wa explained that 15y 777 1vavaw 5"YX means, even though that he
carried it (m»nx '7) higher than ten o°mov from the ground of the 7"77,
which is a 91D 217, nevertheless he is 2°7.

mooIn rejects *"wD:
— (2,1 97 9w9) YIANT 1329 799919 199 MY %19 ONT NN N

And this interpretation is not acceptable, for if indeed this is the question
as ""wA explains, then the X723 should have contrasted this X092 with the

1229 (instead of asking on X27), who state -
— %2591 1900 797 XOVY2Y MINN NI

One who carries out from a store to a square by way of a °v® he is 2°m.

" The xm (then) asks, how can X217 rule that he is 2> if it was carried in a 7D 0p», when the Xn>02 states
that if it was passed from a *"737 to a 2"737 (or vice versa) via a MWD 01pn he is Mws. The Mwd opn of "%¥nY
"n between the nm1mM 77°pPY of carrying NaX '7 is the equivalent of the Mo opn between the 7m1m 7Py of
the R¥Y7 from the °"77 to the 7"7".

2 If the xma compares the case of X271 (where 19y 777 17°2v7) to the X012 (of 2w INWHW S0 13 ORY), we
can also compare the Xn*12 to the ruling of the 1127. See ‘Thinking it over’# 1.

3 A numis a7, a X°ubo is a 7", and a 1°00 is a N7 (which is the equivalent of a XN W OPn).

* This is in contradiction to the Xn*12 which states 7ML TNWHW 211 101 oRY because it passed through a 21PN
7vd. The advantage of contrasting the Xn»72 with the 1127 as opposed to ¥27 is, when we contrast the Xn™12
with &2 we will be able or required to reject the view of X217 since he cannot argue with a Xn»71. However
if we contradict the Xn*72 with the 1127, it will require some means of reconciliation or acknowledging that
this issue is in dispute between the Xn>92 and the 7121.
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mooin asks an additional question:
— P9I 997 1929 NN N1IY NITT RNV NN NI I3 7599 NI

And also why does the X773 ask, ‘shall we say that there is a refutation of
X279’ from this Xn>72; the X3 should have answered, ‘but the j129 agree
with X271 and maintain that he is 2°n.°

mooIn asks a final question on *"w7:
— 39 (3,0 97 pdY) 197995 NINNAT TIY

And furthermore in 39950 X°31577 P70 the 73w states -
— PN 1Y IN NI¥ NDY 7253) D290 YA JOYLNY 1IN MY DTN TIY

A person may stand in a "9 and move objects in the 2", provided

that he does not take this object outside its 1R '7 in the 7"71 -
=995 99a¥1N N2 9INT NIID 1D ¥I0N NNY NNV 299N NIWIN NN NI PN

And the Xo%3 infers from this 71wn, but if he took it out of the nX '7 he is
291 a nXwvr 12775 shall we say that this 71wn supports the ruling of 829, for

N9 states 2v2wnn, etc. citing the ruling of X237 mentioned here. This concludes the
Xn) there, NDOIN continues -
— 1Y AT Y AN DIVNDN YIS

But according to >"'w=32 (that %y 777 means " 75yn7) what connection is

there between the 71wn there and s'®27 ruling here; how will that 7awn prove
the ruling of X217 regarding a Mwd 011 ?! There is no MWD 01P7 in the case of the miwn!

mooin offers an alternate explanation of 19y 717 12v::
— 199 123 139Y "19raynY 1Yy 797 1922910V YH91IT HNIN 19929 W99 NI 795

Therefore n1501n prefers the explanation of the 1''% who explains Y9%2y7
Y 777 to mean that he passed the item that he was moving in front of

himself [from right to left], opposite his body”® -
—1H% NN 7T 92291 NIY RN NNND P 11X ¥HINY 1923 NN MNT

For I may have said; since when the item came opposite him it is as if it
is at rest, it turns out therefore that he did not carry ni»x '7 together, but

> The previously mentioned 7127 who maintain 21 oo 777 X095 M X% agree with X271 that if one
carries 1 12¥n? 2"772 nR 7 he is also 2. In both cases the 7mIM 7Py was properly executed even
though in between the object was in a 15 01pn (or N*7nM3).

% He may stick his hand out to the 7" through a door or window (for example) and move an item back and
forth in the 7", provided it does not leave its original N1 '7.

" The 2"w"nn amends this to read 191 731 19RAWY 1117 1107 (see 1" and "X MDOIMN).

¥ Let us assume that the item was lying in the 7"77 two M»X to the right of the person. He stretched out his
hand picked up the item and brought it towards him (from right to left), passing in front of his body, and
placing it down (or throwing it) two NnX to the left of him. The object traveled (more than) nix '7.

2

TosfosInEnglish.com



X9 7"7 '010 2,0 naw .7"0a

rather there was a 1M1 in between (when it passed in from of him),9 nevertheless X290
maintains that he is 2°m."° The xm3 asked from the X012 where it states that if it passes
a Mwd 01pn he is MY, so why is the case of X231 any different -

[1a8Y 7911 AN NTPRT NI XY BNN YN

So the X answered; there (in the case of X27) the item did not rest, for

this [that it passes in from of him] is not considered a 7137, He was '7 92wn
7"772 MR without a 7man, however in the XN, where the person was standing in the
S1w5 01pn when he took an item from the >"77 it is considered nnn in the 7o 2pn. 2

SUMMARY
"W interprets 1YY 777 to mean “n nvnb, while MooIN maintains that he
passed it in front of his body.

THINKING IT OVER

1. mpoIn asks (that according to >"w7°0) the X3 should have contrasted the
Xn»2 of 79IpoK with the 1127 of VO 717 X°u99Y numn x¥mn.” Seemingly
there is no contradiction between the 1127 and 791P0K, because by 19170 the
person is at rest in the 7w 0pn (therefore he is MWD for Y57 NI 1913 NAIT
n7), however by the 1327 who maintain that "7 72w W% 7771 there was no
MW pPna 7N, therefore he is 2. However there is a question on X217,
because in the case of X217 he was also standing in one place and his hand

? Generally we assume that when an object is in a person’s hand, it is considered v in the MW~ where the
person is standing. This explains why the Xn»92 states 715 1011 Hv1 oXY, for the item is at rest (in the 2P»
Mvd). Similarly here when the item passed in front of him it should be considered at rest in the 2"717, so that
he did not carry nwaX '7 without a 7r17 in between. Even if we consider it a proper 77°py (for he picked up
the item from the "7 ¥p7p) and the 7m7 (four NnX distance) a proper i1n37 (for he placed the item down
on the 1" ¥pp), nevertheless in between the 73 77°pY the item was at rest so there was no 772y of '7
"2 NX in the 7"77. See ‘Thinking it over’ # 2.

' It is now understood the support to X271 from the X3 in 1217 (regarding 1"772 Su%um >392 DX TAW)
that if he was nmR '7 Sv%un he is 2»n even though the item was being carried in front of the person;
nevertheless it is not considered a 1im37.

" This is the amended text according to the 9"wn.

"2 There is a difference if he is standing in a MWD 2p» then we consider it a 737, however here since the
object is always in the 7";17 which is a 211 2p» for everyone therefore we cannot consider it as if it rested
[in a 7wo 1pn (see R"sw ,K"w1n and arkT M7710)]. From the n" " it seems that by the 790X the person
actually rested his hand on the 79Ip0R before giving it to the "1v; however by X271 his hand was moving
continuously, without stopping (which fits in better with the words of the X721 [see &"v1]). [Alternately; by
the 791POR we consider it MWD 0PHA 11, because it entered the MWD 2P» from another MW (the *"77 or the
7"77) and the person is at rest in a 7w Dpn; however here it is in the 1"77 the entire time; we cannot
consider it 711 just because it passed his body, since the item is moving continuously (see 7277 TX). ]

1 See footnote # 2.
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was in a 115 2pn. How do we explain mooin question on w172

2. mooN maintains (in the X" according to the 11"7) that when it passes in
front of him, it should be considered m1."” Seemingly it should be considered
n1 because the body is 11 and the hand is 7721 after the body. If that is the
reason then why should it be considered 11 when it passes 1913 7113; it should
always be considered 3, since the person is at rest?!

3. According to the 1" if one carries M»X "7 from his right to his left he is
2»n. However mpoin previously'® taught (according to the 1"™) that if one is
oRAWYH 17 1M even though that "7 77°2vn, nevertheless he is Mwo. How
can we reconcile these two mpoin?!"’

1 See nrnaK "1o.

15 See footnote # 9.

1 (1102) wa "7 R,
17 See *n Hw naw.
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